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Notes 3.4 — Multiplying Polynomials

Warmup - Flashback to multiplying in elementary school... no calculators
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Investigation

When adding polynomials we applied basic addition rules, will the same be true for multiplication?

Try multiplying (x — 2)(x + 5), what do you get? xi=2
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There are two common methods used to multiply polynomials, you can use either to successfully
multiply two polynomials.

Method 1: The Box (x+2)(x?—-3x+5)
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How can you check if your answers is correct?
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Practice the method of your choice.
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How can we find the product when there are more than two factors?
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How can we multiply polynomials in the form (a — b)3?
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Practice on these problems.
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Putting it all together.

e. (2x%2 =3x+ 1)(x — 2)?
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